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INSTRUCTIONS AND INFORMATION

1.

This question paper consists of FOUR questions. Answer ALL questions.

Number the answers corre according 1o heru ( stem used in this
question paper. e ‘

You may use a
stated otherwist

nongraphical), unless

Round off ALL final an
otherwise

ontext, unless stated

Write neatly and legibly.
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QUESTION 1

The Nelson Mandela Foundation awarded R54064756 to the orphanage homes for
developments.

Use the above information to answer questions that follow

1.1.1 Rewrite R54064756 with the appropriate thousand separator
spaces.

1.1.2 Express the answer in question 1.1.1 in words

1.1.3 The three homes X, Y and Z share the money in a ratio 3:2:1
respectively, calculate (to the nearest rand) how much each home
will receive.

1.1.4 Give a possible reason why one house receives more funds
than others?

1.2 Aprice of an electric toaster was R199,95 the previous year and has
increased to R219,00.

Verify by means of a calculation that the percentage increase of a toaster
is 9,53%.

New Price — 0ld Price
- x 100
0Old Price

You may use: % increase =

)

)

(5)
()

©)

[14]



hp
New Stamp


Downloaded Jrom.qeiGagr ePNYSICS-COM (e term 2 PAPER 1)

QUESTION 2

Pule saw this recipe from the Light October 2020 Magazine and decided to cook it for his
family

Use the above informiafic Swveliguestions that follow.

2.1  Write a ratio of soya sauce to sweet chilli sauce in a simplified form. (2)

2.2 Pule bought a 750ml bottle of sweet chilli sauce.

2.2.1  How many teaspoons of sweet chilli sauce did Pule use in his 3
recipe? (1 teaspoon = 5ml)

2.2.2  What percentage of sweet chilli sauce is used from the whole 2
bottle?

2.2.3  Pule claims that it will take 4,5 hours to cook 72 sticky chicken
wings. If 24 sticky chicken wings can be cooked in 90 minutes,
verify by means of a calculation that his claim is correct.

@)

[10]
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QUESTION 3
3.1 | Below is the water tariff for the Rosehill municipality:

Category Charge/kl

0-6Kkl R0.00

>6 -12KI R8.82

>12- 20kl R10.15

>20 - 30Kl R12.18

3.2

If a household in Rosehill Municipal area uses 25kl of water in a month,
calculate the cost of water for that month.

At some clothing and food stores, it is possible to open an account, buy
goods on credit and pay off what you owe the store monthly.

Bulelwa has an Edgars store account, study the account statement given and
answer the gquestions that follow

3.2.1 How much must she pay on her account?
3.2.2 When is this account due?
3.2.3 Show how the balance of R452.42 was calculated.

3.24 What is the difference between “credit available” and “credit
limit”?

3.25  The Edgars introduced a discount of 12,5% if the account is
cleared before due date. Calculate how much will she pay if she
decides to clear her account on the 1% of May.

(4)

()
()
()
)

(3)
[15]
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QUESTION 4

The data below shows the number of hours in a week twenty-five teenagers spent watching
TV. Their times, correct to the nearest hour, were:

17

14

18

19

12

6

15

13

12

10

11

16

10

15

30

22

7

12

24

5

25

16

27

4.1 Arrange the above data set in ascending order.

4.2

4.3

4.4

4.5

Determine the mode for the above data set.

Define the term median.

Calculate the range for the above data set.

The educator stated that learners spent more than 15 hours on average

watching TV. Verify whether the statement is correct.

GRAND TOTAL: 50

)

)

)

)

©)
[11]
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Codes Explanation

Method

Method with Accuracy

Consistent Accuracy

Accuracy

Conversion

Define

Justification / Reason / Explain

Simplification

T/RD/RG | Reading from a table OR a graph OR a diagram OR a map OR a plan
Choosing the correct formula

Substitution in a formula

Opinion

Penalty, for no units, incorrect rounding-off, etc.
Rounding-off

No penalty for rounding-off OR omitting units

O
>>)§>§

T

Z|0|0 0L M3 v < g0

S

This Memorandum consists of 4 pages including the cover page and grid analysis.
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QUESTION 1
QN | Solution Explanation Marks | TL
1.1.1 | R54.06 vV A 2) TL1
1.1.2 ty-four thousand vV A 2 TL1
ix rand
1.13 |3+ v'"M addition (5) TL3
' v'"M multiply
2 v'A'Y amount
1
Z: 3 X 54064 756 = R9 010 793
1.1.4 | Capacity of the orphanage homes (or any v'v'O opinion 2 TL2
other relevant answer)
12 0% increase = New price-0Old price x 100 v'SF substitution 3) TL4
Old price v M multiply
v" A answer
219,00 — 199,95 < 100
B 199,95
=9,53%
[14]
QUESTION 2
2.1 80:120 vV RT (3) TL1
2 :3 VA
22.1 | No of teaspoons = 22! M (2 | TL2
Smil division
222 | sweet chilli % = 2™ x 100 M 2 | TL2
750ml v A
=16%
2.2.3 90min + 60 = 1,5hours v M (3) TL4
24 wings : 1,5 hours vMA
Time to cook 72 sticky chicken wings
=Zx15h
= ,5 hours VCA
=4
[10]
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QUESTION 3
3.1 [ 6Kkl=R0,00 @) [TL3
6kl x R8,82 = R52,92 vMA
8kl x R10,15 = R81,20 vMA
5kl x R12, 18 = R60,90 vMA
Cost of 25k| water =R52,92 + R81,20 + R60,90 = R194,02 | ¥ CA
3.2.1 | R240,00 vV A (2) | TL1
3.2.2 | 01/06/2012 vvRT [(2 |TL1
3.2.3 | R692.42 — R240 VM ) | TL2
= R452.42 VA
3.2.4 | “Credit Available” is how much credit Bulelwa has left v 0 (2) | TL2
“Credit Limit” is how much credit is allowed in total v 0
3.2.5 | Discount TL4
= R742,37x == M
= R92,80 M €©)
She paid = 742,37 — 92,80 = R649,57 VA
[15]
QUESTION 4
4.1 56 7 8 9 10 10 11 12 12 12 13 14 15 15 vV A (2) | TL1
16 16 17 18 19 22 24 25 27 30
42 |12 vvA (@ [Tl
4.3 | Median is the middle value of an ordered data set TL1
v C
vCA | (2
44 | Range=30-5 v'M (2) | TL2
=25 VA
45 | Mean TL4
= 5+6+7+8+9+10+10+11+... +22+24+25+27+30 v' M
25
25
- 14,92 70
Not valid
[11]

Total Marks [50]
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MARKS: 50
ROUTINE COMPLEX PROBLEM
QUESTION KNOWLEDGE | proceDURES | PROCEDURES SOLVING TOTAL
DESIRED
% 30% 30% 20% 20% 100%
1.1.1 2 2
1.1.2 2 2
1.13 5 5
1.1.4 2 2
1.2 3 3
2.1 3 3
2.2.1 2 2
2.2.2 2 2
2.2.3 3 3
3.1 4 4
3.2.1 2
3.2.2 2 2
3.2.3 2 2
3.2.4 2 2
3.2.5 3 3
4.1 2
4.2 2
43 2
4.4 2 2
45 3 3
Total 17 15 9 9 50
Actual % 34% 30% 18% 18% 100,0
Desired % 30% 30% 20% 20% 100




